FNE PTEIR

ENE fTETH

1. [#B47] A

X1 F 12 A 31 BEREH A REE=($500-$489)x10,000+(1+6%x5/12)=$107,317
X2 £ 5 A 31 HEESA 2 B E=($500-$470) x 10,000=$300,000

2. [#&#7]
1.EB AT
X1F11H1H #AFD R
X1F12H31H 3ZBEmRAnBEaETmERE
THMEETEER
X2F10A31H BREBEERANEBEAESMEE
THMEETEER
Re

o

ERERRATEEOEEMEE

2.8

X1F11H1H \#\EFD

X1F12A31H +#MEEFEES
ZBBEREANEEOEEMEE

X2F10831H THEETEER
ZiBEREARBEEEESMERE

ZBBEREANBEEEEMER

Re

3. [##47]

LERE (BER)

X3 fF 12 A 31 HEEAGA A REE=($52-$50)x10,000+(1+5%x9/12)=$19,277

17,600

2,400

20,000

17,600

2,400

20,000

X4 9 A 30 HEEEHAREE=($53-$50)x10,000=$30,000

OrE (HETT)

17,600

2,400

20,000

17,600

2,400

20,000

X3 F 12 A 31 HEERGHA QA REE=($50-$52)x10,000+(1+5%x9/12)=—$19,277
X4 9 A 30 BEREGHA A REE=($50-$53)x10,000=—$30,000



FNE PTEIR SE3-F)

2.BRTE (BER)
X3E1081H %

X3FE 12831 H ZEBEaRATBEASEMEE 19,277
THEENEER 19,277

X4 9 H30H FRERRANEEEESTHNEE 10,723
EHMEETEES 10,723

Re 30,000
ZBERE A AnBEEESMEE 30,000

JRE (HER)
X3FE1081H %

X3F 12 A31 H THEEMNEER 19,277
ZRERRANEEGETHEE 19,277
X4 F9H30H THEEMNEER 10,723
ZRERRANEEEESTHEE 10,723
ZiEEaRATBEASEHMER 30,000
W& 30,000
4. [##7]1 D

FRiaRBEEIRFLRESR
X6 F 12 A 31 HERIEmME EFTEERX = ($2,180-$2,200)x10,000=($200,000)
X7 % 1 B 20 HERIE/MEETENZ=(82,250-$2,180)x10,000=$700,000

5. (A4 ]

x>>

BHEARBEZFHE = $5,000,000 x (103.06%—-102.35%)= $35,500 ( Kz )
2T D EE

5%
halllg

XI1EFE1081H HERES 10,000,000
RS 10,000,000
X1E 12 A31 H HERES 35,500

7
S

\
|

ETHEETER 35,500

;

X1 FEADEEZSN=(8,100-8,000)x10x$100=$100,000
X2 F 3 B 1 BAREEZSF=(7,800-8,100)x10x$100=($300,000)
rE (ET)



FNE PTEIR

X1 FEADEEEE=(8,000-8,100)x10x$100=—5$100,000
X2 F3 B 1 BARBEEE=(8,100-7,800)x10x$100=$300,000

1.EB AT

X1E1281H HERES 3,000,000
Re

X15E12831H HERET 100,000
THEETEIES

X2E3H1H THEENBER 300,000
HERET

2.0°~E)

X1FE1281H HERET 3,000,000
RE

X1F12A31H E#MEEFEES 100,000
HERET

X2E3H1H HERET 300,000
THEENBER

7. [#47] D

X2 3 A 31 HE#EAREE = ($33-$30)x10,000+$4,000=$34,000

8. [E##r] A

X1 F 12 A 31 HE#EAREE = ($58-$50)x10,000+$10,000=$90,000
X1 FERERIEMEETEERTR = $90,000-$40,000=$50,000

9. [#&4T] C

X5 FEERIFEEZ = $15,000-$12,000=$3,000

10. [#&47] A

X5 FEFERIIFHEFIZ = $30,000-$15,000=$15,000

11. [#47] B

X1 FERERIFHERER = $3x10,000—($2.5%10,000+$2x10,000)=($15,000)

X2 FEERIF BB = $45,000-$4x10,000=$5,000
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FNE PTEIR

12. [##7] C

HARFRAGHE N BB 1E = $180,000+($65-$60)x30,000 = $330,000
FEBEFIZ = $330,000-$240,000 = $90,000

13. [#E#7 ]
(ODX1E 1181 H BRBERRANEEAECREE

QX1 E 12831 H THEETBEER

EREmRANBEEESME
G)X2E3H31H ZEERRANEBOEEMEE
ERMEETEER
@HX2E4830H EREERANBEEESESMEE
EHMEETEER
Re

14. [ #247]

(WX1E118B1H ZRERRANBEEEESTHNEE
Re
Q)EEAEE = $0+$16,000=$16,000
X1F 12 A31 H TREEMNEER

ERBEERANEEOECHEE

Q) ER-E A EE = ($100-$98)x3,000+$3,000=$9,000
X2 E3H31H TREENEER

ERBEERANEEOECHEE

HEBAEBE= ($100—$96)><3 000+$0=$12,000
X2E4830H EREERANBEEEESMEE
EMEETEER
Re

ERERBRANEEOEEMEE
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FNE 7£IHE S5ZETE BEB
15. [ #247 ]
X1E11 858 :
PN VAN
RE 11,000 FRETELANEBEES
BRBEREADEE EMEE 11,000
BETHMAas 11,000 HE 11,000
X1F12H318:
SPNS| VAN
BREBEREADEE SREENBER 3,000
HELHWAG 3,000 BREREBANDEBESS
RIS EEER 3,000 ETRMEE 3,000
X2E 48308 :
SENS| VAN
SHeENERER 7,000 BRBEZBRADEESGS
FREBEREADEE THEE 7,000
BETHMas 7,000 ETREETEER 7,000
BEREADEE BE 15,000
BETHMas 15,000 BRERERADEBEESS
BE 15,000 EREE 15,000
16. [ #2471 ]
X1E6H1H
SF/N=] VAYN-|
B 30,000 BREBERBRADEESS
FRERELANDEER ETMEE 30,000
HETHMEs 30,000 "E 30,000
X1 E£ 12 B 31 H : ARnEBEEES) =$42,000-$30,000=$12,000
SF/N=] VAYN-|
BRBEREADEE ETHEETEER 12,000
HELHAB 12,000 FRBEZRADEESES
HBENEER 12,000 EMEE 12,000




EhE 1£E1H SEETE BERENT
X2 5 B 31 B : AnBEEZ$-380,000-$42,000=$38,000
BAT AT
THeENEER 38,000 ZiBBERRARBEES
ZBBEREANER THEE 38,000
wETHMEE 38,000 TREETEER 38,000
ZABBERBRANEE Re 80,000
wETHMEE 80,000 ZRERRANEEGS

RE 80,000 TREE 80,000
17. [ #&47]
X1 % 1 81 BAERZBENAREE=0
X1 F 12 B 31 HMERZXBENAREE :
FRHARZRIZEME ( X2~ X3 F/E ) =$5,000,000%(5.4%—5%)xP2.5.49=3$36,978
X2 F 12 H 31 BARZBENAEE :
FRHARZRIBREME ( X3 FIE ) =$5,000,000%(6%—5%)xP1 6,=$47,170
X3 F 12 A 31 HNERZMEHI A EE=30
MERMARBEEE T

IR WER & (£~ )% FEETRIE FAEABY | AREE
)] () A3) “4) &) (6)
XIE1818 5 -
X1£E128318 | $ 250,000 | $ 250,000 _ _ i 36,978
X2E128318 250,000 270,000 | $ 20,000 | $ 1,997 | § 18975 47,170
X3%E128310 250,000 300,000 50,000 2,830 0 0
(1)=$5,000,000x5%=$250,000 (2)=$5,000,000x & FE ¥ FENFI R
=21 (4)=LH (o< EEZEFIE
(5)=LH(6)+4)-(3)
XI1E181H ES NS
X1E 12831 H ZRBERRANBEEESTHNEE 36,978
THEENEER 36,978
X2®# 12831 H ZiEBERRANBEASSHMEE 1,997
MEWA 1,997




BENE T1EIHR SEETE BERENT
Be 20,000
ZiEERBRANBEGESHEE 20,000
ZREmRANBEESEHNEE 28,195
THMEETEER 28,195
X3%F 12831 H ZiEBERRANBEASEHMEE 2,830
FMEUWA 2,830
Be 50,000
ZBEnE A AnBEOESMEE 50,000
18. [ ##47]
X1 % 12 A 31 BAERRBENAREE :
FEHARZRIREME ( X2 ~ X3 FIE ) =$1,000,000%(2%—3%)xP2 30,= —=$19,135
X2 £ 12 A 31 HAERZIBMEN A REE :
FEHARZRIREIME ( X3 FIE ) = $1,000,000 x (2%—4%)xP; 40— —$19,231
X3 % 12 A 31 BAERRZBEZAEE=50
MERXBMADBEEZEE
IRE IR g ()% FEEH RIS FAEEFIBV NREE
@) 2 (€] 4) ) (6)
X1E181H $ -
XIZ£128318 | $ 20,000 [ $ 20,000 _ i i (19,135)
X2/E12831H 30,000 20,000 | $  (10,000) | $ (574)| $  (9,709) (19,231)
X3E128318 40,000 20,000 (20,000) (769) 0 0
(1)=$1,000,000x2%=$20,000 (2)=$1,000,000x & FE ¥ FENRI =
3)=)—(1) (@=LER(6)xZBFHFEN R
(5)=LH(6)+4)-03)
XI1E181H ES NS
X1®F 12 A31 H TREEMNEER 19,135
ZRERRANBEGETHEE 19,135
X2 % 12 831 H NEEH 574
ZRBERRANBEGEETHEE 574
ZiBEnE A AnBEEESHMAR 10,000
Re 10,000
THMEETEER 9,522
ZRERRANBEEGEESSHEE 9,522




FNE PTEIR

X3F 12 A31 H MEEHR
ZRERRANEEOEESTHNEE
ZEBERBRANBEASSHNEE
Re

19. [#&#7] C
20. [##47] C
21. [B&#] C
22. [##47]1 B

23. [ #2477
BEn—  IREBREE (&

X1 F 12831 B (ZEBESHNZAREBEIEI $64,000 )
ZRBTRANEESESHERE

EMEENERR

rN

PREEESHSEZREMT)
X148 1H (MEIEZ ARBEAE  BIRSWN  EBEHER)

769

20,000

64,000

X2 F3A31 H (BPBEESHNZAREES $20,000 ( ($50-$48)x10,000 )

ERBEERANEEOECHEE

ERERBRANEEOEEMEE
B RODBFERE (MUESGHAREEESHSEZRESN)

XIF4H81H (EDE)

X1E 12831 H ZRBERRANBEEESTHNEE
TREENEER

X2HF3A31H THEENEER
ZREmRANBEEEESTHEE

g
;j{-l»
5
-||H1 :m

ERBETEANBEEECHEE

44,000

20,000

64,000

44,000

20,000
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769

20,000

64,000
LD $44,000 )

44,000

20,000

64,000

44,000

20,000

*BNTESZ P ATIRRE 400 AR ( $20,000+$50 = 400 A% )

Bn=: BERE ( RUREURBEERASEER )

iy

P AERART $480,000 ZIREFHAT ZFEF - MPRATRIMFTRAIR 10,000 & P AT EER

2w



FNE PTEIR

FET FRIR(E=3480,000xp) 5=$457,143
481 HZE 12 A31 HEGFIE=8457,143x5%x9/12=$17,143
1 B 1 BHE3 A 31 BEGFIE=8457,143x5%x3/12=$5,714

X1E481H

X1#E12A31H

X2%F 3831 H

24. [ #247)
Bn— : IREER
X1E1081H

X1E 12 A31 H

X2E9H830H

EREKRE - BHEA 457,143
FETRRIR

MNEEH 17,143
FET IR

NEEHR 5,714
FEAT IR

FEATFRIR 480,000

EERE 457,143

/\EJ

Bn_ : ROBFEARE]

X1EF1081H

X1E 12 A31 H

X2E9H830H

FRBRRANBEEOESTMNEE 15,000
Re

BEREERANBEUESMEE 1,000
THEETEER

FRBTRANBEEOETMNEE 4,000
ERMEETEER

Re 20,000
ZRERR A ATBEYESEMEE

ZBBEREANEBEGEEMEE 15,000
Re

BERBEERANBEUESMEE 1,000
THMEETEER

ZRBEREANBEAESSMEE 4,000
THMEETEER

[ERI R * 20,000
BRBEEERANBEESESMEE

P ASIEXATHATIKRE 400 Az ( $20,000+$50=400 A% )

9
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FNE PTEIR

Bn= : #BEEZZE|
XIFE1081H EEKRE - EEEE

X1E 12831 H &\&7iF

X2HF9HA30H EREEE
Re
JE= e I 2

oL
or

-||H=|

- BEEY

mw

BR : SEEREAR

XIF1081H ZEESRAEBEAESEHEE
Re

XI1F12H31H ZEESBRANEBEAESEMEE

X2F9H30H ZBRESRANEEBGEEMEE

25. [ #247)

BEn— IR FERE
XIF1081H &R’

BEmRANEEGETHEE
X1F12A31H ==WHEENEER

ERBEERANEEOECHAE

X2F9H30H EMAEENEER

ERERRATEEOEEMEE

ZRBERRATEBEAEERAE

Bn_ . RFEERE

XIF1081H R’
ZRBEmRANBEEEESTHEE

X1F12A31H ==WHEENEER

ERBEERANEEOECHAE
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495,000

15,000

1,000
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BENE T1£IR Sette

X2HF9RH30H SHAEEFEER 30,000
ZREERANBEEESESMEE 30,000
BREERANBEEESHEE 50,000
[EEFI AL 2R (840%1,250) 50,000
Bn= . BRERE

& FRIRE=3450,000xp1 3=$436,893
10 81 HZE 12 B 31 HEETHE=8436,893x3%x3/12=$3,277
1 B 1 BZE9 A 30 BFR3IEETFIE=3$436,893x3%x9/12=$9,830

XIF1081H ®R: 10,000

ERRE - EEEE 426,893
FEATFRIR 436,893

XIF12831H WNEEHA 3,277
FEATFRIR 3,277

X2E3/831H FMEEHA 9,830
FERTFRIA 9,830

SNE/IE] 450,000
W& 450,000

Je5 el i 22 426,893

EEKRE - SESR 426,893
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